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Ǔनदȶश : 

 i- सभी Ĥæन अǓनवाय[ है! 

ii - Ĥæन Đमांक 1 से 5 तक 32 वèतुǓनçठ Ĥæन है ,Ĥ×येक उप Ĥæन के ͧलए  01 अंक Ǔनधा[ǐरत है । सहȣ 

ͪवकãप 06, ǐरÈत èथान 06, स×य /अस×य 06, सहȣ जोड़ी 07, एक वाÈय 07 अंक के है।  

iii-  Ĥæन Đमांक 6 से 23 तक Ĥ×येक Ĥæन मɅ आÛतǐरक  ͪवकãप Ǒदए गए हɇ! 

iv- Ĥæन Đमांक 6 से 15 तक कुल10 Ĥæन है ।Ĥ×येक Ĥæन के ͧलए  02 अंक Ǔनधा[ǐरत  है। 

v - Ĥæन Đमांक 16 से 19 तक कुल04 Ĥæन है। Ĥ×येक  Ĥæन के ͧलए  03 अंक Ǔनधा[ǐरत  है।  

vi - Ĥæन Đमांक 20 से 23 तक कुल 04  Ĥæन है । Ĥ×येक Ĥæन के ͧलए  04 अकं Ǔनधा[ǐरत है  
   

 Instructions: 
 

 i-  All questions are compulsory! 
 ii- There are 32 objective questions from question number 1 to 5, 01 mark is prescribed for each sub  
     question.  Correct option is 06, blank space is 06, true/false is 06, correct pair is 07, a sentence is  
     of 07 marks. 
 iii- Internal options are given in each question from question no. 6 to 23. 
 iv- There are total 10 questions from question number 6 to 15. 0 2 marks are prescribed for each  
     question. 
 v - There are total 04 questions from question number 16 to 19.  03 marks are prescribed for each  
     question 
 vi – There are total 04 questions from question number 20 to 23.  04 marks are prescribed for each  
    question. 
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Ĥæन1- बहुͪवकãप Ĥæनो के उƣर दȣिजये ।       1 X 6 = 6 vad 

 

i- बोã शेͪ वक ĐाǓंत कहा ंहुई थी - 
अ -ĥांस     ब-इÊ लÖैड 

स-Ǿस      द- जापान 
 
 
ii- 26 जून 1945 मŐ संयुƅ रा Ō̓  चाटŊर पर िकतने देशो ंने हˑाƗर िकया - 
 

अ -40       ब - 50 

स - 70       द - 80 
 
 

iii- -दिƗण एिशया मे सबसे बडा देश है - 
 

अ -भारत          ब -पािकˑान 

स - ŵीलका       द - बंƸादेश 
 
 

iv सुरƗा का बुिनयादी अथŊ है - 
 

अ - देश से आजादी      ब -  जीवन से आजादी  
स -  खतरे से आजादी         द -  युȠ से आजादी 
 
 
V- įरयो डी-जेनेįरयो ंिनɻ मŐ से िकस देश का एक शहर है - 
 

अ- Űाजील     ब-˙ेन    
स-जापान     द- ůांस  
 
 

Vi- नई आिथŊक नीित मŐ िकसे सİʃिलत िकया जाता है - 
 

अ- उदारीकरण     ब-िनजीकरण    
स-वैʷीकरण      द-उपयुŊƅ सभी  
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Q 1- Answer multiple choice questions. 
 
 

 i- Where did the Bolshevik Revolution take place - 
 
 A- France       B- England 
 C- Russia       D- Japan 
 
 

 ii--How many countries signed the United Nations Charter on 26 June 1945 - 
 
 A-  40       B- 50 
 S - 70       D - 80 
 
 

 iii- -The largest country in South Asia - 
 A-   India       B-   Pakistan 
 C – Sri Lanka      D – Bangladesh 
 
 
 iv - The basic meaning of security is - 
 
 A-   Independence from the country  B – Freedom from life 
 C – Freedom from danger    D - Freedom from war 
 
 
 V- Rio de Janeiro is a city of which of the following country? 
  
A-   Brazil       B- Spain 
 C- Japan       D- France 
 
 

 Vi- Who is included in the new economic policy - 
 

 A- Liberalization     B- Privatization 
 C- Globalization      D- All of the above 
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Ůʲ 2- įरƅ ˕ानो िक पूितŊ कीिजये?              1 X 6 = 6 vad 

 
i- नाटो (NATO )का  पूरा नाम ............................ है।  

ii- कोलंबो मŐ राजीव जयवधŊने समझौता … वषŊ मŐ Šआ था । 

iii- िवʷ बœक की ˕ापना… वषŊ मŐ Šई थी 

iv- मानव के अİˑȕ को बचाने के िलए..…आवʴक है 

V- वैʷीकरण के कारण  पूरी दुिनया मŐ ʩापार मŐ…..  Šई है । 

Vi- राǛ पुनगŊठन आयोग की ˕ापना …वषŊ मŐ Šई । 
 
Q 2- Fill in the blanks? 
 
 i- The full name of NATO is…………………….. 

 ii- Rajeev Jayewardene Pact in Colombo was signed in… year. 

 iii- The World Bank was established in… year 

 iv- To save human existence…..is necessary 

 V- Due to globalization, trade across the world has….. 

 Vi- State Reorganization Commission was established in… year. 

 

Ůʲ 3 - सȑ /असȑ का चयन कीिजये?             1 X 6 = 6 vad 
 

i- सोिवयत राजनीितक Ůणाली का आधार ˑʁ  कʄुिनː पाटŎ थी। 

ii- वतŊमान मŐ िवʷ की एकमाũ महाशİƅ अमेįरका है । 

iii-िवʷ की सुरƗा के िलए िनश˓ीकरण आवʴक है 

iv- पेड कटाई रोकने हेतु िचपको आंदोलन चलाया गया 

v--भारतीय रा Ō̓ ीय कांŤेस पाटŎ भारत की सबसे पुरानी पाटŎ है 

vi-नीित आयोग का अȯƗ रा Ō̓ पित होता है 
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Q3- Select True/False - 
 i- The cornerstone of the Soviet political system was the Communist Party. 

 ii- America is currently the world's only superpower. 

 iii-Disarmament is necessary for the security of the world 

 iv- Chipko movement was launched to stop tree cutting. 

 v--Indian National Congress Party is the oldest party of India. 

 vi-The Chairman of NITI Aayog is the President 
 
 

Ůʲ 4- सही जोड़ी बनाइये -              1 X 7 = 7 vad 
 

      कालम अ                   कालम ब 

   i-   शॉक थेरेपी का पįरणाम    A-  अथŊʩव˕ा  तहस-नहस होना 

   ii- - पृțी सʃेलन       B- įरयो डी जेनेįरयो 
  iii-  दल बदल िवधेयक     C--52 वॉ संिवधान संशोधन 

  iv- ʩापक परमाणु परीƗण Ůितबंध संिध        D-1996 

  v-  डॉ मनमोहन िसह     E- अथŊशा˓ी व देशके Ůधानमंũी 

  vi- मोरारजी देसाई          F-पेįरयर 

  vii-- ईवी रमाˢामी नायर     G- Ůथम गैर कांŤेसी Ůधानमंũी 
 
Q 4- Make the correct pair - 
 
 Column A                   Column B 
 i-Shock therapy will result in   A- economy being devastated. 
 ii- Earth Summit      B- Rio de Janeiro 
 iii- Defection MLA     C--52nd Constitutional Amendment 
 iv-Comprehensive Nuclear Test Ban  D-1996 
     Treaty  
 v- Dr. Manmohan Singh    E- Economist and Prime Minister of 
                    the country 
 vi- Morarji Desai     F-  Perrier 
 vii-- EV Ramaswami Nair    G- First non-congressman  
                    Prime Minister 
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Ůʲ 5- एक वाƐ मे उȅर िलİखये ।             1 X 7 = 7 vad 
 

i-   अमेįरका मŐ आंतकवादी हमला कब Šआ? 

ii- साकŊ  के सद˟ देशो ंके नाम िलİखए। 

iii खतरे  से आजादी िकस शɨ का अथŊ है । 

iv- ओजोन परत मŐ हो रही तीŴ छह के कारण कौन सी िकरण पृțी के वातावरण को नुकसान    
    पŠंचा रही है िलİखए । 
v- 1966 मŐ िकस भारतीय Ůधानमंũी की ताशकȽ मŐ मृȑु Šई थी ? 
vi-  गुटिनरपेƗता का Ɛा अथŊ है? 

vii- िȪ Ŭुिवयता के उदय का Ɛा कारण था? 
 
Q 5- Write the answer in one sentence. 
 

 I-  When did the terrorist attack happen in America. 
 i.- Write the names of the member countries of SAARC 
 ii- Which word means freedom from danger. 
 iii- Write which ray is damaging the Earth's atmosphere due to intense  
     depletion of the ozone layer. 
 iv- Which Indian Prime Minister died in Tashkent in 1966. 
 v- What is the meaning of non-alignment. 
 vi- What was the reason for the rise of bipolarity. 
 

नोट - अित लघुउȅरीय Ůʲो के उȅर दीिजये. 
 
 

 Ůʲ 6- िȪ -Ŭुवीयता का  Ɛा अथŊ है िलİखये।           2 vad 
 

   अथवा 
 

 शॉक थेरेपी के कोई दो पįरणाम िलİखए। 
  
Q 6-  Write what is the meaning of bipolarity. 
 

                       Or 
 

         Write any two results of shock therapy. 
 -6- 



 
Ůʲ 7- Ɨेũीय संगठन के Ůमुख उȞेʴ िलİखए         2 vad 

 
 

   अथवा 
 साकŊ  का मूल उȞेʴ Ɛा है िलİखये। 
 
Q 7-   Write the main objectives of regional organization 
 

                Or 
 

 Write what is the basic objective of SAARC. 
 
 
Ůʲ 8-  िन:श˓ीकरण Ɛा है िलİखए।          2 vad 

 
 

   अथवा 
 

 सुरƗा  िकसे कहते हœ िलİखए । 
 
Q 8 - Write what is disarmament. 
             Or 
          Write what is security. 
 
 
Ůʲ 9-  साझी संपदा Ůबंधन Ɛा है, िलİखए।         2 vad 

 
 

   अथवा 
 

 ‘‘वैिʷक ताप वृİȠ (Ƹोबल वािमŊग)’’ िकसे कहते हœ,  िलİखए। 
 

Q 9- What is shared property management write. 

             Or 

        What is called “Global Warming”. 
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Ůʲ10    वैʷीकरण Ɛा है िलİखये।          2 vad 
 

              अथवा 
 

 आिथŊक उदारीकरण Ɛा है िलİखये। 
 

 
Q10:  Write what is globalization. 
 

               Or 
 

 What is economic liberalization. 
 

Ůʲ11- िवलय पũ Ɛा है िलİखए।           2 vad 
 

    अथवा 
 

    ˢतȸता के बाद भारत की Ůमुख चुनौितयो ंको िलİखए। 
 
Q 11-   Write what is deed of merger. 
 

    Or 
 

  Write the main challenges of India after independence. 
 
Ůʲ12-  िनयोजन Ɛा है िलİखए।            2 vad 
   

  अथवा 
 

   िमिŵत अथŊʩव˕ा Ɛा है िलİखए। 

 
Q 12-  Write what is planning. 
 

   Or 
 

  Write what is mixed economy. 
 
Ůʲ13- भारतीय िवदेश नीित के  Ůमुख दो आधार िलİखए ।          2 vad 
 

  अथवा 
 

  िवʷ बंधुȕ से Ɛा ताȋयŊ है िलİखये। 
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Q 13- Write the two main bases of Indian foreign policy. 
 

               Or 
 

  Write what is meant by world brotherhood. 

 
Ůʲ14- 1980 के दशक को खतरनाक दशक Ɛो ंकहा गया है िलİखये।       2 vad 
 

    अथवा 
 

  पंचशील िसȠांत Ɛा है िलİखए। 

 
Q14- Write why the 1980 has been called a dangerous decade. 
 

                  Or 
 

  Write what is Panchsheel principle. 

 
Ůʲ15--आपातकाल Ɛा है िलİखये।             2 vad 
 

        अथवा 
 

 एकाȏ मानववाद Ɛा है िलİखये। 

 
Q 15-  Write what is emergency. 
                        Or 
  Write what is Integral Humanism. 
 
नोटः  लघु उȅरीय Ůʲो के उȅर दीिजये ।  
Note: Answer short answer questions.  
 

Ůʲ16- यूरोपीय आिथŊक सहयोग संगठन का वणŊन िवˑार से िलİखए ।        3 vad 
     अथवा 
 आिसयान (ASEAN )आिथŊक समुदाय का उȞेʴ Ɛा है िलİखये । 
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Q 16- Write the description of European Economic Cooperation Organization 
 in detail. 
      Or 
 

  Write what is the objective of ASEAN Economic Community. 

 
Ůʲ17- दिƗण एिशयाई देशो ंकी राजनीितक İ˕ित को समझ कर िलİखए ।       3 vad 
 

     अथवा 
 

 साकŊ   (SAARC ) और साɝा  (SAFTA )के Ůमुख उȞेʴो ंƐा है  िलİखए । 
 
Q 17- Explain and write the political situation of South Asian countries. 
 

                     Or 
 

 Write what are the main objectives of SAARC and SAFTA. 
 
Ůʲ18- हैदराबाद की įरयासत पर संिƗɑ िटɔणी िलİखए ।        3 vad 
 

     अथवा 
 

 रा Ō̓  िनमाŊण की Ůमुख चुनौितयो ंƐा है उसके समाधान हेतु Ɛा िकया जाना चािहए था 
 उƅ संबंध मŐ अपने िवचार िलİखए । 
 

Q 18- Write a short note on the princely state of Hyderabad. 
              Or 
  What are the main challenges of nation building and what should have been 
 done to solve them? Write your views in this regard. 
 

Ůʲ19- वतŊमान मे भारत मे  िकतने राǛ व केȾ शािसत Ůदेश है । चार केÛġ शाͧसत     3 vad 

 Ĥदेशो के  नाम िलİखये। 

         अथवा 
 

 ˢतȸता के बाद भारत मे देशी įरयासतो के िवलय की Ɛा सम˟ा थी समझ कर 

 िलİखये । 
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Q 19- How many states and union territories are there in India at present?  Write the 
 names of four union territories. 
 

      Or 
 

  Explain and write what was the problem of merger of princely states in India 
 after independence. 
 
दीघŊ उतरीय Ůʲो के उȅर दीिजये            
answer long answer questions   
 

Ůʲ 20 -संयुƅ रा Ō̓  संघ मŐ भारत के योगदान को उदाहरण सिहत समझ कर िलİखए।     4 vad 
 

     अथवा 
 

  संयुƅ रा Ō̓  संघ के आधारभूत िसȠांतो ंको समझ कर िलİखए । 
 
Q 20 - Understand and write about India's contribution to the United Nations 
  with examples. 
                Or 
 

  Understand and write the basic principles of the United Nations. 
 

Ůʲ 21- भारतीय राजनीित मŐ नए बदलाव के िलए राजनीितक दलो ंका होना आवʴक है     
 उƅ संबंध मŐ अपने िवचार िलİखए ।              4 vad 

                  अथवा 
 

 भारतीय राजनीित मŐ Ɨेũीय दलो ंकी भूिमका को समझ कर िलİखए । 
 
 Q21- It is necessary to have political parties for new changes in Indian politics. 
 Write your views in this regard. 
 

                    Or 
 

 Understand and write about the role of regional parties in Indian politics. 
 

 



-11- 
 
Ůʲ -22  िनɻिलİखत पर िटɔणी िलİखये             4 vad 

 i-शांितपूणŊ सह अİˑȕ की नीित 

 ii-िवदेश नीित के मामलो ंमŐ सवŊ सहमित 

             अथवा 
 भारत की िवदेश नीित का िनमाŊण शांित और सहयोग के िसȠांतो ंके आधार पर Šआ। 
 लेिकन 1962 1965,1972  ,1999 की अविध मŐ भारत कोअपने पड़ोसी देशो ंके साथ युȠ 

 करना पड़ा । Ɛाआप मानते हœ िक भारत की िवदेश नीित सफल नही ंŠई ,अथवा यह 

 अंतररा Ō̓ ीय İ˕ित का पįरणाम है उƅ संबंध मŐ अपने िवचार िलİखए । 
 

Q 22- Write a comment on the following: 
  i-Policy of peaceful co-existence 
 ii- Unanimity in matters of foreign policy 
                Or 
  India's foreign policy was built on the principles of peace and cooperation. But 
 during the period 1962, 1965, 1972, 1999, India had to go to war with its 
 neighboring countries.  Do you believe that India's foreign policy has not been 
 successful, or is it a result of the international situation? Write your views in 
 this regard. 
 

Ůʲ23-  Ɨेũीय मांगो ंका मानना और भाषा के आधार पर नए राǛो ंका गठन करना एक 

 लोकतांिũक कदम के ŝप मŐ देखा जाता है , इस कथन को Ɋायोिचत  िसȠ करने  

 के िलए तीन उपयुƅ तकŊ  दीिजए ।               4 vad 
                  अथवा 
 

 भारतीय लोकतंũ की सफलता के िलए Ɨेũवाद पर िनयंũण लगाना आवʴक है उƅ 
 संबंध मŐ अपने िवचार समझकर िलİखए । 
 
Q 23- Accepting regional demands and forming new states on the basis of language is 
 seen as a democratic step, give three suitable arguments to justify this 
 statement. 
                  Or 
  For the success of Indian democracy, it is necessary to control regionalism. 
 Write down your views in this regard.\ 


